Unemployment assignment 
1. In which of the following cases would the worker be counted as unemployed? Briefly explain.

a. Rosa, an older worker, has been laid off and gave up looking for work months ago.

b. Anthony, a schoolteacher, is not working during his three-month summer break.

c. Grace, an investment banker, has been laid off and is currently searching for another position.

d. Sergio, a classically trained musician, can only find work playing for local parties.

e. Natasha, a graduate student, went back to school because jobs were scarce.

2. Fill in the last three columns. All data are in millions.

Civilian Employment

	Year
	Civilian non-institutional pop’n age 16 and over
	Civilian labor force
	UR
	LFPR

	
	
	Employed
	Unemployed
	Total
	
	

	1970
	117
	66
	4
	
	
	

	1980
	137
	79
	4
	
	
	

	1990
	168
	99
	8
	
	
	

	2000
	188
	117
	7
	
	
	

	2010
	209
	135
	6
	
	
	


3. Which of the following are consistent with the observed relationship between growth in real GDP and changes in the unemployment rate? Which are not?

a. A rise in the unemployment rate accompanies a fall in real GDP.

b. An exceptionally strong business recovery is associated with greater percentage of the labor force being employed.

c. Negative real GDP growth is associated with a fall in the unemployment rate.

4. Identify the type of unemployment for each scenario.          F = frictional // S = structural // C = cyclical
_____ A computer programmer is laid off because of a recession.
_____ A literary editor leaves her job in New York to look for a new job in San Francisco.
_____ An unemployed college graduate is looking for his first job.
_____ Advances in technology make the assembly-line worker’s job obsolete.
_____ Slumping sales lead to a cashier being laid off.
_____ An individual refuses to work for minimum wage.
_____ A high school graduate lacks the skills necessary for a particular job.
_____ Workers are laid off when the local factory closes because the product made there isn’t selling.
_____ A skilled glass blower becomes unemployed when a new machine does her job faster.

5. Explain the following.

a. Frictional unemployment always exists.

b. Frictional unemployment accounts for a larger share of total unemployment when the unemployment rate is low.

6. Why does collective bargaining have the same general effect on unemployment as a minimum wage? Illustrate your answer with a diagram.

7. Suppose the US dramatically increases benefits for unemployed workers. Explain what will happen to the natural rate of unemployment.

8. Rank the following types of unemployment as the most meaningful measurement (#1) to the least meaningful measurement (#6).  Briefly justify your answer.
U-1   Persons unemployed 15 weeks or longer, as a percent of the civilian labor force.

U-2   Job losers and persons who completed temporary jobs, as a percent of the civilian labor force.

U-3   Total unemployed, as a percent of the civilian labor force. (The announced unemployment rate.)

U-4   Total unemployed plus discouraged workers, as a percent of the civilian labor force plus discouraged workers.

U-5   Total unemployed, plus discouraged workers, plus all other persons marginally   attached to the labor force, as a percent of the civilian labor force plus all persons marginally attached to the labor force.

U-6   Total unemployed, plus all persons marginally attached to the labor force, plus total employed part time for economic reasons, as a percent of the civilian labor force plus all persons marginally attached to the labor force.

“Persons marginally attached to the labor force are those who currently are neither working nor looking for work but indicate that they want and are available for a job and have looked for work sometime in the past 12 months. Discouraged workers, a subset of the marginally attached, have given a job-market related reason for not currently looking for work. Persons employed part time for economic reasons are those who want and are available for full-time work but have had to settle for a part-time schedule.”
